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1)

2)

3)

4)

3)

Benzene structure was first proposed by
(A) Lineaus Pauling (B) Rutherford
(C) Kekule (D) Sorenson

The separation of one kind of organism from a mixture of many different
kinds is called

(A) Identification
(B) Isolation

(C) Preservation
(D) Centrifugation

Which of the following biomolecule whose monomers don’t undergo
dehydration to become polymer

(A) Protein
(B) Lipid
(C) Nucleic acids
(D) Carbohydrates

Which of the following amino acids could serve as the best buffer at pH 7.0
(A) Glutamicacid

(B) Serine

(C) Histidine

(D) Aspartic acid

Epinephrine is an example of
(A) Peptide

(B) Steroid

(C) Eicosanoid

(D) Catecholamine

M-2152 2]




6) Arachidonic acid has 20 carbon atoms with
(A) 4 double bonds
(B) 3 double bonds
(C) 2 double bonds
(D) 5 double bonds

7) 1N NaOH has a pH of
A) 1
(B) 10
C) 14
D) 7

8) Humans are unable to digest
(A) Starch
(B) Complex carbohydrates
(C) Cellulose
(D) Denatured proteins

9) Glycolytic reactions take place in
(A) Cytoplasm
(B) Cell membrane
(C) Cellwall
(D) Plasmid

10) Cholesterol is a precursor of
(A) Steroid hormones
(B) VitaminA
(C) Bilesalts
(D) BothA& C
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11) NAD contains

12)

13)

(A) Adenine (B) Deoxyribose
(C) Biotin (D) None of the above

Proteins in mammals are made up of Stereochemical configuration of all
o. — amino acids derived from protein is

(A) D-amino acids

(B) L-amino acids

(C) D & L-amino acids
(D) None of the above

Which of the following is called as milk ejection hormone?
(A) Vasopressin
(B) Prolactin

- (C) Oxytocin

14)

15)

16)

(D) All of the above

Which of these amino acids has imidézﬁle ringinit
(A) Phenylalanine (B) Tryptophan
(C) Tyrosine (D) Histidine

The most abundant immunoglobin in external secretion is
(A) IgA (B) IgG
(C) 1D -~ (D) IgM

Metal ion present in Chlorophyll and Vitamin B, are
(A) Manganese and Cobalt respectively

(B) Cobalt and Iron respectively

(C) Cobalt and Manganese respectively

(D) Magnesium and Cobalt respectively
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17)

18)

19)

20)

21)

An abundant terpene in tomato is
(A) Dolichol - (B) Lycopene
(C) Limonine (D) Menthol

Following is an example for ecosinoid having short half-life
(A) Thromboxane B2
(B) Prostaglandin E2
(C) Thromboxane A2
(D) Prostaglandin D2

Equivalent weight of Oxalic acid is
(A) Same as molecular weight

(B) Y the molecular weight

(C) Twice the molecular weight

(D) None of the above

Aldolases split Fructose-1,6 bisphosphate into
(A) Dihydroxy acetone phosphate
(B) Glyceraldehyde-3-phosphate

(C) Glyceraldehyde-3-phosphate + Dihydroxy acetone phosphate

(D) None of the above

Metabolic reactions that breakdown complex molecules into small compounds,

there by releasing usable energy for the cell, is best described as

(A) Biosynthetic reactions
(B) Catalytic reactions

(C) Catabolic reactions

(D) Photosynthetic reactions
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22) Half-life of Phosphorous-32 is
(A) 314.8 hours
(B) 5,000 years
(C) 14.3 days
(D) 87.1 days

23) The bond angle in water is
(A) 104.5°
(B) 92.2°
(C) 105.4°

D) 52.5°

24) Which one of the following amino acid does Pantothenic acid contain?
(A) P-alanine
(B) Aspartic acid
(C) P-amino isobutyric acid
(D) Glutamic acid

25) Ionic bonds are
(A) Directional
(B) Non-directional
(C) BothA&B
(D) None of the above

26) The value of ionic product of H,O at 25° C is
(A) 1.14 x 10°%%
B) 2.95x 101
(C): 5.6 % 1074

D) 1 x 10
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27) Triglycerides are
(A) Soluble in water
(B) Insoluble in water
(C) Partially soluble in water
(D) Soluble in water at high temperature

28) Buffer action of hemoglobin is mainly due to
(A) Glutamine residues
(B) Arginineresidue
(C) Histidine residue
(D) Lysineresidue

'29) Recently identified amino acid is
(A) GABA (B) Selenocysteine
(C) Allolysine (D) Citrulline

30) Deep ground water poisoning in Bangladesh is mainly due to ‘
(A) Mercury (B) Lead
(C) Arsenic z (D) Cadmium

31) Aspirin blocks the synthesis of
(A) Leukotrienes
(B) Prostaglandins and Thromboxanes
(C) Triglycerides
(D) Cholesterol

32) Dinitrophenol is used as
(A) Uncoupler of ETC
(B) RNA synthesis inhibitor
(C) Protein synthesis inhibitor
(D) None of the above
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33) Lipooxygenase is required for the synthesis of
(A) Prostaglandins
(B) Thromboxanes
(C) Leukotrienes
(D) PGG,

34) Example for Iso-enzyme is
(A) LDH (B) Cisaconitase
(C) Cyclooxygenase (D) A&C

35) Fluidity of the membrane is increased by the following constituent
(A) Polyunsaturated fatty acids
(B) Saturated fatty acids
~ (C) Integral proteins
(D) Cholesterol

36) Tyrosine Kinase activity is present in
(A) o — adrenergic receptors
(B) B — adrenergic receptors
(C) Cholinergic receptors

(D) Insulinreceptors

37) Immunoglobins are secreted by -
(A) B — Lymphocytes - (B) T~ Lymphocytes
(C) Plasmacells (D) Thymus cells

38) Diabetes insipidus is caused by deficient secretion of

(A) Insulin (B) Glucagon
(C) Vasopressin (D) Oxytocin
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39) The reason why Glucose is phosphorylated immediately after being transported

into cell is

(A) Phosphorylation of glucose makes it impermeable from the cell
(B) It can undergo substrate level phosphorylation :
(C) Forits use in glycolysis

(D) None of the above

40) Essential amino acids are called so because
(A) They are essential for well being
(B) They are not made in the body
(C) They do not cause ill effects
(D) None of the above

41) The metal ion present in Nitrogenase enzyme is
(A) Molybdenum
(B) Tungsten
(C) Selenium
(D) Magnesium

42) Anti-dote for Methanol poisoning is -
(A) Butanol (B) Ethanol
(C) Propanol (D) Iso-butanol

43) Pair of cells that do not contain nucleus are
(A) RBC and Platelets
(B) RBC and WBC
(C) Platelets and WBC
(D) Platelets and PMNLs

44) Urea synthesis in mammals takes place primarily in following tissue
(A) Brain (B) Kidney
(C) Yiver (D) Skeletal muscle
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45) Puromycinisa
(A) DNA synthesis inhibitor
(B) Transcription inhibitor
(C) Protein synthesis inhibitor
(D) Electron Transport Chain inhibitor

46) Which statement about multi-enzyme complexes is NOT true
(A) They have multi subunits
(B) They avoid diffusion of substrate and products
(C) They increase the speed of the reaction
(D) None of the above

47) N-acetyl neuraminic acid is also called as
(A) Sialicacid - - (B) Valericacis
(C) Caproic acid (D) Butyricacid

48) In Polyacrylamide Gel Electrophoresis, the separation of proteins is based on
(A) Charge
(B) Molecular weight
(C) BothA&B
(D) Structure of polypeptides

49) Lac operon model was proposed by
(A) Jacob and Monad
(B) Meselson and Sthal
(C) Watson and Crick
(D) Hargobind Khorana

50) What is the pH of 1N HCl

(4) 1 B) 0
(CE 25 5 D) 1.5
YVNVY
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Rough Work
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